New Products
CKD WAEH - 48[Bl1TIE R AR KL
SCW:x2-R Series

FEFR

@I &1S015552%5”

OF] /5 @A HAITIZR )

OFXLERMERE, BHAXMERFEHXHA
TR

D A o = |
S 1TIEAS
HiZ | WRTIE | BATIE [T 80T
T2 mm | 32 | 40 | ¢50 | 063 | 080 | @100 (mm) (mm) (mm) | (mm) [ (mm)
{ERMRIA ERERETS ¢32 500
= oEES MPa 1.0 @40 25.50,80,100, 500
SIRTHEE MP 0.05 50 | 125,160,200, 600 .
Eﬁﬁ” fFE7 a 250,320,400, 2000%' 25
RIETRE S MPa 1.5 $63 | 500,600,700, 600
FERE °C 10~ 60 (B, FEHFLE) ®80 800 800
TI2IRE mm 0~14 100 800
RITRE mm's 30 ~ 1900 ~;§1:sﬁc&w T??ﬁ?&fﬁfﬁi% AR ST, R LA
- 2" BB ATTIZES, IRIB R A AT AR 2 = RS, TSR E LA,
SR =S P R E R PR
BRESKE  mm| 15 | 15 | 164 | 164 | 234 [ 234  HIfF—K
A3 Co = 4 = N =
Gt LR Fs BIRHHTHS
SEpnirmkeEsE J] 25 | 60 | 90 | 144 [ 254 | 456 1 532 SCWP2-R.32K
2 640 SCWP2-R-40K
3 #50 SCWP2-R-50K
4 $63 SCWP2-R-63K
5 $80 SCWP2-R-80K
6 $100 SCWP2-R-100K
3¥:SCWP2-R.SCWT2-RiEH.
E%iﬁ (B :kg)
R A 1 = Y =1 =1
y HommBdpI= R E 8 - %4
H1E STEAOMmIMTREE gy TR EE| TR s !
(mm) Ezkg: Bﬂ]lil /ﬁ:i Eiﬂlﬁ; B"MHE E (E/I\) an‘Fis Y
() (LB) (FA) |(TA. TB. TC) (TH?)
SCWP2-R- ¢ 32 0.77 0.88 0.99 — 0.16 — 0.07 0.10
540 1.10 1.04 1.38 - 0.20 - 0.07 013
$50 1.89 2.05 237 - 0.29 — 0.20 0.30
$63 247 2.81 323 - 0.30 — 0.20 0.30
$80 4.08 451 565 — 055 - 052 0.94
6100 587 6.73 819 — 055 0018 — 048 0.92
SCWT2-R- 32 0.74 0.85 0.96 0.91 0.09 : 0.024 0.07 0.10
640 1.05 1.19 133 1.39 013 0.024 0.07 013
$50 1.80 1.96 228 228 018 0.022 0.20 0.30
$63 234 268 3.10 3.22 0.20 0.020 0.20 0.30
$80 377 4.20 534 526 0.39 0.026 052 0.94
6100 555 6.41 7.87 812 036 0.024 048 0.92

EFE(LB)NBRRRAE

C-CC-1449C



SCW >:< 2 'R Series

BERTAHE
——adtthhdhdhtd
(SCWT2-R)
ORERR 00 |ISO%R |EaAm
LB MS1 T E I EE Y
FA MF1 B AE=5
TC |MT4 a4 ((FESCWT2-R)
TA AR E A (X PRSCWT2-R)
B EREHME ((RPRSCWT2-R)
:
(BIAEES 32 632
40 ®»40
50 @50
63 63
80 ® 80
100 ® 100
® SR
Oﬂfﬂw‘“‘ﬁ ERS |HEEL
D &
‘3%‘”1" B |AsSSEmEAR)
R R
Gmii‘mﬁ"g 25, 50, 75. 100
GE; =
ORXES BESY |LWSS [BA | B |98
TOHX | TOV | 5 |$2BETRH
T5H % T5V X fiy TASRIT 24%
TSH¥ | T8V | ® |®BEERD®
T1H X TIV:X N
: : _ 24
T2HX | T2V BEITRN
T3HX T3VX 3%
T2WH?X | T2WV X otk
T2YHX | T2YVX | ¢ o
TIWH | TaWVK | g | e
TIYHX | T3YV | = 34
A ﬁ%ﬁﬁﬂﬂ’gii,%ﬁ%lﬁi T3PHX | T3PV BEERN
- ~ ~ T2YD% | — . .
‘i$1:Q%fqﬂ,lfﬂ?ﬁi,ﬂfﬁjﬁjm?ﬂiﬁﬁh%‘]f’ﬁo —— — BHGBRTX | 24
E2: PV R R # TR
T2JHX | T2JV* WrERZEIRAY | 24
XSEKE
(RIS RTHI) )
SCWT2-R-LB-40B-50-25-TOH-R-MI-SX 3 [3m (&)
e 5 5m (%)
Q=L MR D Fin
OfIR: ¢40 OF £ oy
@ HENE R AT
G172 50mm H BEimE1
QT EAIEERE: 25mm D o
O@F %2 TOH, SEKETm T [#E3T
(HESE S ST LR R - D ki3
QLT SERITHE (R Oz M EEFFHRCRSE)
O BEFESH |
QHEEIT2: BHIRATRY CRETHEETT) Ot | |1S08139 | EEIEREA
Y  |1SO8140 |MEFEEEGRENFOR)
OERT2 Cgme Tneaa
SX  |BEMR(RAEEIFX)

CKD




SCWPZ'R Series

. SMERTE
SMERSTE
@SCWP2-R
thE B EEEY (LB)
X+{TiE+aX
E A WF L8+{THE RC+a¥
TG
EhetiE FE M T L2 VDG RD HD G _|RARB RF
- 2-EESO
Si?T,;:';\BG \ fetEE Ve L2 ﬂ;‘ ’<|:>_£
W/\%/?KLS / | I
; 7 - =0
© gk |
z J KK~ 7 és — \RE\ XHh%EEPF
@ @ XA FEEHW S O
AR\ THATESW, gk S
K TR AQ || AU | AU,| |_AO
LE 4-0AB SA+{TiZ
XA+1T12

aX¥{TIEAEER (£ mm)

hmRpIEER (LB) BAR

2 s [ e [ o w [ s

¢ 32 22 30 16 | 475|243 |G1/8| 6.7 | 33 17 | M10X1.25 15 5 94 6 4.9 12 10 13 | M6 6
¢40 24 35 16 53 27 |G1/4| -10 | 35.8 | 18 | M12X1.25 17 5 105 8 5.5 16 13 14 | M6 6
¢ 50 32 40 16 65 33 |G1/4| 06 | 37 24 M16X1.5 24 5 106 8 7 20 17 14 M8 10
$63 32 45 16 76 |[385|G3/8| 3 [383| 24 M16X1.5 24 5 121 8 9 20 17 16 | M8 10
¢80 40 45 21 95 48 |G3/8| O 40 30 M20X 1.5 30 6 128 | 1 12 25 22 16 | M10 | 12
¢ 100 40 55 21 114 | 575 |G1/2| 45 | 432 | 30 M20X 1.5 33 6 138 | 11 12 25 22 18 | M10 | 12

e S S Y PN D

32 32.5 4 26 | 1748 7 32 8 4 24 46 156 32 158 14 8 32.8 8 8 M12X1.25
@40 38 4 30 196 9 36 10 4 28 52 175 36 177 14 1 37 10 1 M16X1.5
@50 46.5 4 37 218 9 45 10 5 32 65 187 45 192 17 105 | 43 10 14 M20X1.5
¢ 63 56.5 4 37 233 9 50 10 5 32 75 | 202 | 50 207 17 | 10.5 | 43 10 14 M20X 1.5
¢80 72 4 46 242 12 63 13 6 41 94 230 63 235 20 15 48 10 17 M24 X1.5
4 145 | 71 15 6 41 114 | 240 75 250 20 15 48 10 17 M24 X 1.5

$63 155 | 125
¢80 145|145 | 17 17
¢ 100 16.5 | 16.5 | 18.5 | 18.5

CKD



S CWTZ 'R Series

IMERTE

@®SCWT2-R
HhE R (LB)
X+{TiE+a
o) e
s A WF L8+{7#2 RC+a
016
gaetid| T F M T 2| G RD HD_ G _|RARB RF
8-RTEBG = VD
R7AAL3\ \ ZEETH 112 [PL £
al ¥ l:L / a = — -
© s |
T &J KK §"e
s
< @ Py ©)| | mwomeaw/ /2 =
L SHNEESW )/ =l ma]
/. TR > AO ||, AU AU, [LAO
4-AB LE = SA+{TIZ
XA+{TH2

aXfTIZRIAEE (S mm)

MBS (LB) B4R

-nmnm-a:ﬂnm-z-nmm

32 475 | 24.3 G1/8 -6.7 M10X1.25

®»40 24 35 16 53 27 G1/4 -10 | 35.8 18 M12X1.25 17 5 105 8 5.5 16 13 14 M6
@50 32 40 16 65 33 G1/4 0.6 37 24 M16X1.5 24 5 106 8 7 20 17 14 M8
®»63 32 45 16 76 38.5 G3/8 3 38.3 24 M16X1.5 24 5 121 8 9 20 17 16 M8
® 80 40 45 21 95 48 G3/8 0 40 30 M20X1.5 30 6 128 1 12 25 22 16 M10
® 100 40 55 21 114 | 57.5 G1/2 45 | 43.2 30 M20X1.5 33 6 138 11 12 25 22 18 M10
(a=s

i@ \ 7 [ 16 ] vb [wr | x | 0 | P | AB [ An [ Ao | AT [ Au] Lt | sA ] TR | xA [ Ra | Re | Rc | Re | P |
32 6 32.5 4 26 174.8 58 38 7 32 8 4 24 46 156 32 158 14 8 32.8 8 8
®»40 6 38 4 30 196 64 40 9 36 10 4 28 52 175 36 177 14 1 37 10 11
@50 10 46.5 4 37 218 72 42 9 45 10 5 32 65 187 45 192 17 10.5 43 10 14
$63 10 56.5 4 37 233 83 46 9 50 10 5 32 75 202 50 207 17 10.5 43 10 14
® 80 12 72 4 46 242 103 56 12 63 13 6 41 94 230 63 235 20 15 48 10 17
® 100 4 51 247 | 120 63 145 | 71 15 6 41 114 | 240 75 250 20 15 48 10 17
”?..mmmm

N I I N

32 M12X1.25

@40 M16X1.5 4.5 95 7 12

@50 M20X1.5 55 75 8 95

®63 M20X 1.5 10 155|125 | 175

® 80 M24X1.5 145 | 145 17 17

@100 M24X1.5 16.5 | 16.5 | 185 | 18.5

A1 RIETEE MR (N = KLL), R<152%C-CC-1362CHH 51001,
F2: REFANLBEY, REFLEVHS MM ERTE, AtRERT R ERER.

FMNEREORTBEREERIRARTRERN, RERERBESIEHERERTSEXN. HBSAXNARS,
If the goods and/or their replicas, the technology and/or software found in this catalog are to be exported from Japan, Japanese laws
require that the exporter makes sure that they will never be used for the development and/or manufacture of weapons for mass destruction.

EFE(LE)NBRRATE

<Website>
https://www.ckd.sh.cn/

O TFHRNEN, A LIRS RSN FTEE
©CKD Corporation 2019 All copy rights reserved.

©EFIE (Lig) MEBERARE 2019kRFFE

HITEE,

B AL

FEHRTCXAIMEE 19055 PR A1£61£601

BiE (021) 61911888

WASBITER, BIFRE

200233

f£E (021) 60905357

2019.4.ACNBC



